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QUESTION 1

Which mode does a Citrix Administrator need to configure in order to allow the NetScaler to forward any packets that
are NOT destined for an IP address which is NOT configured on NetScaler?

A. Layer 3

B. USIP

C. Layer 2

D. MAC-based Forwarding
Correct Answer: C

Reference: https://docs.citrix.com/en-us/netscaler/10-1/ns-gen-nsvpx-wrapper-con-10/ns-gen-sys-setwrapper/ns-gen-
config-mod-pkt-fwd-intro.html

QUESTION 2

Scenario: IT administrators working from remote locations, need to connect securely to internal Windows servers to
manage the servers. Below are the connection requirements: The remote client devices must be locked down,
preventing installation of any additional software Users must authenticate at Citrix Gateway and Citrix Gateway must
perform Single Sign-on to the Windows servers Connection capabilities (for example, client drive mapping) must be
controlled by Citrix Gateway

Which connection method can a Citrix Administrator configure to meet these requirements?

A. RDP Proxy

B. Clientless VPN

C. Full VPN

D. Micro VPN

Correct Answer: A

Reference: https://docs.citrix.com/en-us/netscaler-gateway/12/rdp-proxy.html

QUESTION 3

Scenario: A Citrix Administrator needs to configure a NetScaler Gateway virtual server in order to meet the security
requirements of the organization. The administrator needs to configure timeouts for end-user sessions, to be triggered
by the following behaviors:

-Inactivity for at least 15 minutes -No keyboard or mouse activity for at least 15 minutes

Which two timeout settings can the administrator configure to meet the requirements? (Choose two.)

A. Client Idle Time-out set to 15

Latest 1Y0-230 Dumps | 1Y0-230 PDF Dumps | 1Y0-230 VCE Dumps 2/3


https://www.passapply.com/1y0-230.html
https://www.passapply.com/1y0-230.html
https://www.passapply.com/1y0-230.html

VCE & PDF https://www.passapply.com/1y0-230.html
2024 Latest passapply 1Y0-230 PDF and VCE dumps Download
PassApply.com

B. Forced Time-out set to 15

C. Client Idle Time-out set to 900
D. Session Time-out set to 15

E. Session Time-out set to 900
F. Forced Time-out set to 900

Correct Answer: CE

QUESTION 4

Which reason would account for uneven user connections on a back-end server using the default load-balancing
method?

A. Persistence is enabled

B. Application resource utilization is uneven
C. Incorrect load-balancing method is selected
D. Multiplexing is disabled

Correct Answer: A

QUESTION 5

Scenario: A Citrix Administrator has a Citrix ADC SDX with four VPX instances configured. The SDX has a 10GB
bandwidth license that has been configured with dedicated bandwidth of 2 GB for each instance. However, the
administrator found that three instances do NOT ever reach the bandwidth limit, while one instance reaches the limit
and needs 1 GB more bandwidth to accommaodate increased traffic requests. What can the administrator change on the
instance that requires more bandwidth, to meet traffic requirements?

A. Configure LA channel to increase the bandwidth

B. Configure burst capacity of 1 GB with priority 10

C. Purchase a SDX license to increase the bandwidth on the instances

D. Configure burst capacity on the instance adding 1 GB of bandwidth with burst priority O

Correct Answer: D
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